Homewor k 4 Solutions

i & ii. f=abc+Dbd+ac

(@'+b+c)(b'+d)(a+c")

g =
g=ab'c +acd+abd+bcd+ab'c+acd
h =

a'c(b+d) + a(c'+bd)

=abc+ acd+ ac' + abd

X y z f g

0O 0 o0} 0 1

0 O 1 1 0

0 1 o| 0 1

0 1 1 1 0

1 0O 0| O 1

1 0 1 0O 0

1 1 0| 1 1

1 1 1 0O 0
f=x'yv'z + xX'yz + xyz'
g=xy2zZ +x'yz' + xy'z' + xyz'
f=x"2 4+ xyz'
g =2 (XY +x'y + xy + xy) =2
ff(x,y,2) = ¥ym(0,2,4,5,7)
9 (X y,2) = Im(1,3,57)

P9a
P8a, P9aa



11.

12.
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F=ABC+ AB'C' + AB'C + ABC

G =A'BC + AB'C' + AB'C + ABC' + ABC

F=(ABC+ABC) + (AB'C'+AB'(C)

= BC + AB' P9a, P9a
G=ABC +A(B'C' + B'C + BC' + BC)

= A"BC + A P9aa

=BC + A P10a

F'(A,B,C) = ¥m(0,1,2,6)

G'(A, B C) = Ifm(0,1,3)

X Y Z G a. b. c.
0 0 0 0 0 1 0
0 0 1 X 0 0 0
0 1 0 X 0 1 0
0 1 1 0 0 0 0
i 0 0 X 0 1 1
1 0 1 1 1 1 1
1 1 0 1 1 1 1
1 1 1 0 0 0 0

yes no yes



